Q.1 June 2017

Using Buckingham's - theorem show that the velocity through a circular orifice is given by,

 $V = \sqrt{2gH} \,\, \phi[\frac{D}{H}, \frac{\mu}{\rho V H}]$

Where H is head causing flow, D is the diameter of the orifice, μ is the coefficient of viscosity, is mass density and g is the acceleration due to gravity.

$$\begin{array}{l} & \forall \text{ letter try } V \text{ is destructs on } H_1 D_1 H_1 S_1 B_1 \\ & \quad V = f(H_1 D_1 H_1 S_1 B_1) = 0 \\ & \quad Total \text{ Less of Variation } M = B \\ & \quad Los and Dimarkon } M = B \\ & \quad V \text{ M}[S & M^0 L^1 T^1 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} & M^0 L^1 T^0 \\ H & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} & \text{ M} & \text{ M} & \text{ M} S_1 M^0 L^1 T^1 \\ H & \text{ M} \\ H & \text{ M} \\ H & \text{ M} \\ H & \text{ M} & \text{ M} & \text{ M} & \text{ M} \\ H & \text{ M} & \text{ M} & \text{ M} & \text{ M} \\ H & \text{ M} & \text{ M} & \text{ M} \\ H & \text{$$

$$\begin{split} \pi_{2} &= H^{a_{2}} g^{b_{2}} e^{c_{2}} D \\ M^{0}L^{0} \tau^{0} &= (L^{1})^{a_{2}} (L^{1} \tau^{1})^{b_{2}} (M^{1} t^{2})^{c_{2}} (L^{1}) \qquad \pi_{2} = H^{-1} g^{0} g^{0} g^{0} D \\ &= L^{a_{2}} L^{b_{2}} \tau^{-b_{2}} M^{c_{2}} t^{-2c_{2}} L^{1} \qquad \pi_{2} = \frac{D}{H} \\ M^{0}L^{0} \tau^{0} &= M^{c_{2}} L^{a_{2}+b_{2}-2c_{2}+1} \tau^{-b_{2}} \\ c_{2} = 0 \\ 0 &= a_{2}+b_{2}-2c_{2}\tau 1 \Rightarrow a_{2} = -1 \\ b_{2} = 0 \\ T_{3} &= H^{3} g^{b_{3}} g^{c_{3}} M \\ M^{0}L^{0} \tau^{0} = (L^{1})^{a_{3}} (L^{1} \tau^{-1})^{b_{3}} (M^{1} t^{-1})^{c_{3}} (M^{-1} \tau^{-1}) \\ q_{3} &= -3|z \\ b_{3} = -4|z \\ c_{3} = -1|z \\ c_{3} = -1 \\ T_{3} &= H^{-3i_{2}} g^{-1/2} g^{-1} g = \frac{g_{1}}{H^{3i_{2}}} \frac{1}{\sqrt{g}} \\ f_{1} (\pi_{1} \pi_{2} \pi_{3}) = 0 \\ f_{1} (\frac{\sqrt{g}}{\sqrt{g}}_{H} + \frac{D}{H} + \frac{M}{H^{2}} g_{3} \frac{\sqrt{g}}{\sqrt{g}}) = 0 \\ f_{1} (\frac{\sqrt{g}}{\sqrt{g}}_{H} + \frac{D}{H} + \frac{M}{M^{2}} \frac{\sqrt{y}}{\sqrt{g}}_{H} \pi^{-1}) = 0 \\ \frac{\sqrt{g}}{\sqrt{g}}_{H} &= \phi (\frac{D}{H} + \frac{M}{\sqrt{g}} \pi^{-1}) \\ \sqrt{g}_{H} &= \phi (\frac{D}{H} + \frac{M}{\sqrt{g}} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1} \pi^{-1} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1} \pi^{-1} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1} \pi^{-1} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1} \pi^{-1} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1} \pi^{-1} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1} \pi^{-1} \pi^{-1} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1} \pi^{-1} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1} \pi^{-1} \pi^{-1} \pi^{-1} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1} \pi^{-1} \pi^{-1} \pi^{-1} \pi^{-1} \pi^{-1}) \\ \sqrt{g}_{H} &= (D + H^{-1} \pi^{-1} \pi^$$